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Oblicz całkowitą energię sprężystą układu

t-y

40 cm

o
o
00

50 kN 
— ...

2 m 2 m

E = 205 GPa

v =  0,2

50 kN

crBC =U X

50 kN
= 156,25— =  0,156 MPa

0,4 ■ 0,8

° £ B =
100 kN

=  312,50—  = 0,313 MPa
0,4 ■ 0,8 

1 -  2v

m ‘

-  — 7 7 T - (o -* +  °y +  °* )6 E

1 - 2 - 0 2  1 
0 BC =  7 5 ' 0,1562 =  4,88 ■ 1 0 -7 ■ 0,1562 =  11,86 • 10~9

6 ■ 205■ 103 MPa

1 - 2 - 0 2  1 
^ B ----------------—  ■ 0,3132 = 47,81 ■ 1 0 -9 —

6 ■ 205■ 103 MPa

Uv = I  <p*cdV + I  t f BdV 
v v

1 1 , 8 6 - 1 0

2000 200 400 2000 200 400

- 9  I I I _l  /i -7 o  1 . m - 9
I  I  i drdydz  +  47,81 ■ 10 ' I  I  I dxdydz
0 -2 0 0  -4 0 0  0 -2 0 0  -4 0 0

= (11,86 ■ 10“9 +  47,81 ■ 10~9) ■ 2000 ■ 400 ■ 800 =  38,19 Nm m  = 0 ,0 3 8 /

<Pf — \^X  4  0~y +  CTjj — 0 X 0 y  — O yO Z ^ X ^Z  1" 3 "4 TyZ +  T%Z

R r 1 +  0 ,2  1
0 /  =  77^ ■ 0,1562 =  1,95 ■ 1 0 -6 ■ 0,1562 =  47,46 ■ 10“93 ■ 2 0 5 • 103

0 / B =  o ‘ 0,3132 =  191,04 ■ 1 0 -9 —

MPa

3 ■ 205 - 103 MPa

Uf  =  (47,46 ■ 10"9 +  191,04 ■ 10“9) ■ 2000 ■ 400 ■ 800 =  152,64 Nm m  =  0,152 /  

U = UV + Uf  = 0,038 +  0,152 =  0,19 J


